oot vvwddooogoag

00000 CM(byODOOO)
e 00000000

oooooooo e 00000000000 D000O0ODO
Logic in Computer Software e 100D0O0D0ODOOOODOONDOODOOOONOOOO---0
00000000
oooo o Mathematics: 00000000 (DO000)00D0OOO
ooo
0000 0000000000000 e Computer Science: 000 0000O00000O000OO etc.
- e 0000D: 000000000 ONONOOONONOOOODOO
e 0000000 ONONOONONONOONONDNOONONONOONONOODO
0000000
e J0DDIDDDOD (byODOO): DODODUODOO
e 000DD0OONONOOO: 0000000 OOOOO
0 0 00000000 logcin ComputerSoftware | 0 0 00000000 Logcin Computer Software |
o N
ex=0|1]... int 000
e 0000000 ONONOONONONOONONDOONONDNOONONOODO | true | false bool 000
0oO0oooO ’ .
X
e D0DOOPCFIDDOOODODOOODOOOOOO et | Y
€l T € |6 — 6|6 =6
e PCFUODDOODIONDOOOIODODODO
| if e; then e; else e3 oog
e PCFUODDODONDOOOODOODOD el ToO0LO0Oon
X. e | e e
PCF: Programming Language for Computable Functions [Gordon IAR). e | er (&) DO0DO000D (0D0)
Plotkin '
] | fix f(X). e oooooo

f,xOODO,e000
x01000000000e0 100000000
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1+ x
if x =0then1else?2
if x =0theny + 1 else f(2+ z)

AX. €

f(x)=eODODOODO fOOOO

fo
f( (hO)) e JOOOOO xOODOO e.
)\g e UOOOOODOO f(103)|:||]|:||:||:]D|:||:|[|f103|:||:|
X. X
oono
Ax.x+1 e PCFUOO0OOUOOOUOOUOUOOOOOOOOO
(/\X.X—|—1)3 o [I: M\ f(X)
: . + 1.
(M. x+1) ((Ax. x+1) 3)

(M. F(F 3))(Mx. x + 1)
Ax. if x =0 then 1 else f(x — 1)
fix f(x). if x =0then 1 else f(x — 1)

oooo 00000000 Logic in Computer Software oooo 00000000 Logic in Computer Software

00000 (Recursive Call) 00000000 (100x0000)

fun1 % fix f(x).

fix f(x). e if x =0 then 0 else (x + (f (x — 1)))
o f(x)=eODDOODO fFOOOD??7?
e 00ODODOODOODD: e0dD fOODODOODO
e 0DDIDOODODO fun1(3)w if 3 =0 then 0 else (3+(fun1 (3—1)))
e J00D0D0DD (OCam)O001et rec £ x = e 00 ~» if false then 0 else (3 + (funl (3 - 1)))
0000 rec0000O ~» 3+ (funi (3-1))
e fix: fixed point, fixpoint, 0 0 00O ~» 34 (funi (2))

~> 3+ (if 2 =0 then 0 else 2+ (funl (2 — 1)))
~*34+(24(1+0))

~* 6
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OO0000D000O (OO:100x0000) OO0000000O (2000000)

fun2 % fix £(x). fun3 % fix f(x, ).
if x = 0 then 1 else x * (f (x — 1)) if x=0thenOelsey+f (x—1,y)
fun2(3) ~» if 3 =0 then 1 else 3 % (fun2 (3 — 1)) fun3(3,2) ~» if 3 =0 then 0 else 2 + fun3 (3 —1,2)
~~ if false then 1 else 3 * (fun2 (3 — 1)) ~» 2+ fun3 (3—1,2)
~ 3% (fun2 (3 — 1)) ~+ 2+ fun3 (2,2)
~ 3% (fun2 (2)) ~% 2+ (24 fun3 (1,2))
~+ 3% (if 2 =0 then 1 else 2 x (fun2 (2 — 1))) ~* 24 (24 (24 £un3 (0,2)))
~* 3% (2% (1% 1)) ~* 24+ (24(240)

O0000D000 (ooOooono) 00000 (Syntax vs Semantics)

ooooo:.ooooo?

fund % fix f(x). f(x) e 00000000000 000OD
e 00000000000 D00ONDDODO

ubooooobooooboonog

e 00D0:00000000D000DDOODOOOOODO0
A O0(cf. 000000)

e ID:0Db0OOLOODLDODLOUODLOODOLOOLOODLODLDODO

fun4 (0) ~» fun4(0)

goooo 00000000 Logic in Computer Software oooo 00000000 Logic in Computer Software



doooooooogdg3ouooooon oot vvwddooogoag

e Operational Semantics (0O O0O00O)
Specify how we compute the value of e.

e Axiomatic Semantics (0D 0O000)
Specify how we can reason about (the properties of) e.

@ Denotational Semantics (0 000000000 00000O0O

e OO0 DLOODLOODODLOOOLODLOODLDODLDODODOO
gbobooobobooobooobooboooboooon

o OO0 DODOODODUOMODOODODOODO
gboboobobooobobooboboooon

0000000000000 00000 etc.) OODOOOO

0o)
Specify what is the corresponding function (or some bobooboboobod
mathematical object) to e. e IIIDOD:O000DO0DLOODO? DOOOOOODOOO (I]

00)00ooO0ooooo
e JUUUPCFUDDDDDOOUUOOLOUUOUULDLDDDOO

O0000000000O0000D0 HeareOOOOODOOOO
O00@ooooooooooooooon)

00000000000000000000000000000 oooood
0ooooo

gooogad goooogad

gt % fix f(x,y). if x = 0 then false else

double = Af. Ax. f(f x) if y =0 then true else f (x — 1,y — 1)
inc=MAy.y+1

000000 (double inc)1 000000 gt (2, 3)
~" gt (1, 2)

(double inc) 10 ~~ (Ax. (inc(inc x))) 10 ~" gt (0, 1)

~~ inc(inc 10) v false

~» inc(10 4 1)

~ (104+1)+1 gt (3, 2)

~*12 ~* gt (2, 1)
~* gt (1, 0)
~* true
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F(x)=-fler)- - Flen)- -

_ e 0000DODDO?
e J000DO0DD00D0DNONDO0D0NOO0
f(x)=N
00000 fOODODOOOND fO xO000(0O0O00O0) fact % fix f(x). if x = 0 then 1 else x  (f (x — 1))
000000000 fFOOPCFOODO

£ix f(x). N fact(3) ~ if 3 =0 then 1 else 3% (fact (3 —1))
fact(2) ~» if 2 =0 then 1 else 2 % (fact (2 — 1))
good
DO00O00 oOKODODMoOoOooooooooooooooo
000000000 (COo0o0oo0)b0o0oUo0oooooUoo
EEEEN
fix OO0 fix OO0
factdéffixf(x).ifx:Othenlelsex*(f(Xfl)) ooooooooo:
ood
» f(x) = (F(F)(x)
Fé)\f.)\x.ifszthenlelsex*(f(X—l)) 0000 xO000000000000o0oOooon
ooooon o JIDUDOD F:ODOUODDUODOUUODDOOUDUDODODO
ogn

o FOMDODO fOOXxDODOOOO10DODOOOOOODO

N000000000(FODO000000000000 e 000000 £ 0000000000000000000
noo) 000
e n00000000 00000 fri(x) = (F(£))(x) 0O exoboobD(DODDOO)D
DO0(0OO00 fy(x) = undefined 0 0 0 0 ) FOOOOOOODODOOOOO0O (010)0000fact 0O
e fact U0 D00 £, 000D fact(x) = (F(fact))(x) OO OO ooooo

e HI0UO0Ofact UODODOOODOODOODOODOO
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fix OO gooogn

00000000000 (D000, Recursion Theorem):
FOODODOOOODOODOODODOODUOUODODODO xoooooo

gbobooobobobooboobooboooobo
e HODOOODLOODOOODODOO

f(x) = (F(f))(x) e 00000000000 O0DO00O000OON0DNOONO0On
oo
00000000 fFOOODOO o C, Java, ..
e J00DO0D: 0000D00DN0ON0ONODNOOO(DODOO °SEEDDDDDDDDDDD(DDDDD)DDDDDD
bopbbooob)bbboo e JOOODO: Lisp, Scheme, ML (SML, OCaml, F#), Haskell...
e 00D0D0DDDOONODOONDOOODOOODDOOODOOOD e 0000000 : Perl, Ruby, JavaScript, ..
ooooaov?
e 10000 DDOONODODONDDOOODOODDOOODOOOD e JUOOODLDOODO
ooooav? e 10DDO0NDNDONONDOONDDONONDOODO
e 10DDO0NDNDONONDODONDNDONONDDONDNDOONDODOD e 00000
oo _ e 00DDODDDOOODOOOOD
o fact(—3)JUDOUDODO (DUODO; undefined)d
[ 0000 00000000 Logicin Computer Software | [ 0000 00000000 Logicin Computer Software |

QL O0O0000O0DO0OoOoooooooo

(Partial) Answer

fun2 & fix f(x). if gt(x,100) then x — 10 else f (f (x + 11)) QL. 0000000000 D0OODO

Q2. 0CO0000000000000000000000000 fun2 & £ix f(x). if gt(x,100) then x — 10 else f (f (x + 11))
gobOd0ooO0obobooboOoocCcooboooobouobooboog Al. x>100000 fun2(x) =x—1000x <101 000
Dobooooooooomoobbooooooooooog fun2(x) =91 000000 (John McCarthy O 910 0)
0000000(@OO0O000D0000 (returnvalue)0 OO0

0000000000oO0o0oUoo)0DoocCcoooouoo O0: 0000000o0Ooooooooooooon
O00Dd00o0oDd0ooooc0odooonooooonooon 090 < x <1000 0 fun2(x) = fun2(fun2(x + 11)) =
poooouooou fun2(x +1)0 000 fun2(x) = fun2(101) =91
O00Java0O0OO0O0OO OOO0ODOODODOODOOODOODOO 079 <x<8900 fun2(x)=fun2(x+1) 0000 fun2(x)=
0000000000000 (Dobooooooooooooo fun2(90) = 91
00)000000000000O00O0O00ooooOooooo 000000000 101-x0000000000000)

gbobooobobboobooboobobobobooobooboon
ugboooobogn
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(Partial) Answer (Partial) Answer

Q2. CO00ODOOUOODOOOUObDOOUOUOODOOOOD
ugog

A200 1. 000O00O0DooOocCcooOoOoooooooogooo
0000 (Oo0o0oo0o0oooOo0oUooOO0)oobooOooo
gbobodobobobooboobobobobobooboboon
bobooboboobaobon

A200 2 000O0OOOODOOOODODOOOODObDOOD
goomobooboboobobooobobooboboob
gbobooobobobooboobobooboboobooboon
O000(CO0000O000000UoO0oU0oooUoooooo
gbobooobobobooboobobooboboobooboon
O00000o00oooooon)

Q3. JavalODOOOOOOOOOOOOODOODOOOODOCOO
goooo

A D00 pooooobooooboobogobooooDo
000000000 (boo0oU0o)boooUooooUoo

mbooobobooobobooobobooboboobob

ubobooobooboooodg
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